2016 (A) Ay

$SC PART-I (10th CLASS) Wiy |
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TIME ALLOWED: 2.10 Hours SUBJECTIVE b2 La0 = ;;
MAXIMUM MARKS: 60 e -
NOTE: - Write same question number -;;_Ef;:g,ﬁ;..;,gir.‘fﬁg: Lot Insudide -

and its part number on answer book, as given in the question paper.
SECTION- sl

2. Attempt any six parts. 12=2x6
(i) Define Exponential Equation.

(i) Solve by Factorzation-  5x = 15x

.éf;glﬁﬁlz@;ﬂ -z,:fdlr
Eflondizi @
5y =15x .-A_:{J'ljf..fu; {ii)

(iii) Find the Discriminant of the Equation. 4z’ - Tx-2=0 el (i

(v) Without sohing,find the sum and produc o the foots ofthe equation Ep Lo ppL Sl W)
Il -5x+T7=0

Epwedf E'{-+% AL a5 -Se+6=0chs B W)

L]
(v) If wand P are roots of the equation 4x’ — 5x + 6 = 0 find value of i

(vi) White the quadratic equation having roots -2,3 -Jﬂhﬁmu -2,3 uju {"i.'l"I
(vil) Define Proportion and give an example. -é:dﬁrﬁé-afu‘f ()
(vii)} Find the fourth proportional of 8, 7, 8 8, 7,6 &P b0 (i)
(i) M 3(4x-5p)=2x-Tythenfind ¥y _ﬁ‘.ﬁ# X1y Jr 3(4x-5y)=2x- wh

3. Attempt any six parts.
(i) Define Rational Fraction.
) How canwe make Patial Fractonof
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4, Attempt any six parts Ldisd/, gk 3 Q@&* S
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R :
Convert - radian lo degree.
X d 25 A
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(i) Find B when ¢ =4.5m, p=2.5m __ , @
. sin's PRl

(i} Simplify expression to a Single Trigonometric Function: Cos'x
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(vi Ev::::m. EaAsls o
(vi) Define the Circumference of a Circle _Eé..e‘/i{n;izu (i)
(vilj) Define a Cyclic Quadriateral, EaA Al (i)

Eafimde (W

(ix) Define the Escribed Circle.

SECTIONAI (2 i
~ 24=8x3 il Bﬂdlru?é{f:ayfﬁa Prleilf -2

ree questions but question No.9 is compulsory.
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I i hi‘mm:squm& Tix+2a) +3a" =3a(Tx + 23a) -g{Jf.ﬂff:f:.—hLﬂ (3.5

(1+0)(1+0?) (1+0") (140" ) ===~ 2nfactors = 1 SEer ()

;':' ﬂ;—'—‘ﬁ‘#’&c’ _ ace gk Bl ): :
- Bl bdf St =g =7 /1 (6
¥+ 2x 1
(x-2)(x+3) -5-.1’? Su iz (L)

2.3 ~—-— 10} #B={22.4.5,8)  4={1,3,5.7,9) /
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ROUP-I ot |
TIME ALLOWED: 210 Hours SUBJECTIVE SELo a0 = &
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number .:,.E-,;:Lﬁi.,;,._llr,f}:_éb::f:z:ﬂfdk;ﬁqdﬁ}lﬂ L

and its part number on answer book, as given in the question paper.
SECTION-I Ji.o

2. Attempt any six parts. 12=2x6 éff_f“?&lfu adf -E/U!r
() Define Quadratic Equation and give an example. -é:dﬁ-uté..g fJ..,uwj’um i)
(i) Solve by Factorization. 4 - 32x = 17x* 4-32c=17x -éu"ﬁf»fﬂ: (i)
(i) Define Symmetric Function. Eaplredy W

(1v) Use Synthetic Division to find the quotient and the remainder, when - ﬁiﬂ”di sﬂ_,-‘U"Iera..fdM;E‘:-'g 7 (v
(4’ =5x+15)+ (x+3)

(v) Write the quadratic equation having roots -2, 3 -éﬂ..-.nhl.-'dmia 33 L):'h (v}
(vij We, [ arethe roots of the g‘,-f’?”..jgfulﬂ’ Mﬂqﬂaﬁ 45° ~Sx+6=0 =bi-pPp. ."‘I {vi)
equation 4x' — 5x + 6=0 , then find the value of a’p’
(vii) Define Proportion with an example. -é:&;ﬁéﬂﬂgﬁ {vii}
(il Find . fthe ratios a +3:7 + a and 4: 5 are equal. bl a Mtz 8:5 0 a+3:T+a = (i)
(i) Find Third Proportionalto_ &, 3’ &, 30} EP b ()
3. Attempt any six parts. 12=2x6 é;ﬂuyﬂzu;—.&f 34y
(il Whatis Improper Fraction? t;.dgg;/_qug M

i) Hmumnmmakeﬂ‘neFaﬂ:alFmd(x+g”ﬁ_#}l _J’F:gc?lﬁ?hwn(liﬂ“”n, 5 W

i) If X={1,479)

and ¥=12,4,59) tenfindYUX
(iv) Define a Function. :
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(2) tan x SiNX secx s'i %/

=17em o~ ABC "3‘
- =15em 1 0 S
L nz b o=bem A D f¢ i

1..\"_,1

fil) Simplify - tanx sinx seex

(W) naAdBC, a=1Tem b=15em and ¢ =8cm then find ek “}td
g.: ) fbf J ;'u(.,.-"l'.rjlﬂl."r.. ﬂ1._.| n
(v) Diflerentiate between Chord and an Arc of a Circle. T
(vi) What s a Secant? L ?:Cwu, i
e iy L/l i
Tl - Vel o Fae LI v i
() How many common tangents can be drawn for twa fouching circles? UEbEy WSPELpInL Ay (X
SECTION-II (e : 0= _
24=8x3 =0 9 vl febpletribedf -2

NOTE: - Attempt any three questions but question No.9 is compulsory. :

S(A) Solve by Factorization x4, @ 2 ESshi (D)5

x y+1 12

. Sk - 2p =4 .}L'Z._L:l)jj.«i ¥ +Tx+3m=5=0 -'f“'-"'/rg'-’f’w"gJ m )
(B)  Find m, ifthe roots of the equation x* + 7x + 3m - 5 = 0 satisfy the relation X — 2f =4

N Rt
& E;:ﬁu:i,;;; =*} bl S e S (J))-6

Vg i e
solve the equation. s
PalE , ; x-5
Y ; 3 "éﬁhcu’frdjz;‘ I: e 2-" = 3 {ir-}
i ‘-“-w}; A={1L3,579), B={2357) Aoty

(ANBY = AUB . LopF

& 5 _i:“"""a"' 'Ll"-{ﬁ“ (2 urt/ }Lﬂdﬂfiuizﬁﬁl!fft.!w ()
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7196 SSC PART-II (10th CLASS)

THEMATICS (SCIENCE GROUP) (o O

GROUP-I s - t)
TIME ALLOWED: 20 Minutes OBJECTIVE (372 w20 = =N
MAXIMUM MARKS: 15 15 = f.f-.f

A i} s o3 e R S e i b g QHdIR gEi D CBIA syl Jins
o et L 24 Bubbles PR T e P ik L LS tiel <22
Note: You have four cholces for each objactive typs quastion as A, 8, C and D. B0 e O g
The chelce which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles, Cutting or Tilling two of mora circlen will resull In zero mark in that quastion. Attampt as
many quostions as given In objective type question paper and leave others blank, No crodit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No 1 A A
(1) The set having only one element is called - --:—Fl|'.'r el Loagser ()
(A Nulsel cxs  (B)Powerset <xaf  (C) Singlelon sel bl (D) Subset <=
(2) Power set of an emply set is:- -.-_-_m..-..;'.a:l;r.;.:-dﬁ- {2}
(A) & B tal (Crid.lall Oyid )
(3 The spread or scattermness of observations in a data sel is called:- -2 eud3 Hf.:-u;,#:ffu; (3}
(A) Average b (B} Dispersion S (C) Central tendency ;-."I-.ad:fr (D} Range =*"
(4) SecO=___ et Sec’s  (4)
(A) 1 - tan’0 (B) 1+ cos'@ (C} 1+ tan’@ (D)1 - sin'@
(5) The distance of any point of the circle o s centre s called - LN FLem  ©
(A} Radius v (B) Diameter (C)Achord ALl (D)Anarc ikl
(6) Tangents drawn at the ends of diameter of a circle are___ -._E.Lm.:‘.ﬁirui.'&_?;u,,{.ﬁi‘_ oo (8)
\o each other. (A) Paraliel (317 (B} Nonparallel ii#d  (C)Colinear &5 (D) Perpendicular el
(7} If the chord of a circie subtends 3 central angle of 180°, _CedSaet 180 s T ()
then the length of the chord will be-
(A} Less than the racial segment fufi (B Equaltothe radial
{cmwhmufmmmmm;-@'f“ (D) Equal to the tang

(8) In the figure, © is the centre of the circle, then
(855" (B)110° (C)220° (D) 12

'r;‘ |
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ol st questicon nunhr.mmrh-rﬂ-n
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m-uﬂlwﬂhmmd |
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Q.No.1 A A

(1) Tha sohubion set of equation 4x' - 16 =0 eV A -16=0 20 (1)
CRELR CRER i) {22 ) (o) £2

(71 Product of cuba rools of unity i ..a;-.,.-_r-"....}"'hl'..,-ﬂb;fﬁ;}l" (2]
iA) 0 i@ 1 cy =1 oy 3

(3 @+ megqual o it al+p’ 3
Ay a'-p' ) "‘! ’ t: ©) (a+p'H)-2ap ) a+p 1

(4} The fourth proporional w of Xy 2 ViWw ja- u_:..c-.eu'...-rﬁl.igl_.ﬂ ryiivie e
w =2 @) 22 (©) *¥v (D) ;5;

i5) Find ¥ "“H‘mﬁﬂ""-'l x .""'l 15 -i"-“-fl""k""Jr L odix 515 F {8}
IM.? 1B) ; c) % (D) 12 ’

. 41 e (A) A proper fraction /-2 PSR “—_:]”‘_&} (8)
(8) An impropar fracton -/ tie? (C) An identity =5V (0) A constant term /2P~

(7) Powsr sel of an empty sel is - e tnizaerds @
6 ®) {a} © {¢, {a}} ©1{¢ }

8) The number of slements in power setof {1, 2,3 } is- *W Ml el (1,23} (8
(A) 4 (B) B (c) 8 ©) 9

1) The most frequent occurring observation hl-_ﬂhm #%w/Mw’ m
(A) Mode s (B) Median -y (C) Harmonic mean &+/-5T4 (D) Data

(10) 0° = ' - ' =20 (0
(A) 360 (8) 630 ©) 1200 ‘ S iz

(11) A circle can pass through ____ non-colinear points. ok o
(A) One (B) Two » ol :

(12) Mmmu:ﬂm.;'_' |

of ____inlength  (A) Hall -8 E
13) The central angle of the semi circumferen

(A 90" :

(14) In the figure, 018 he

o~ ol



